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| H2 | fiEHlE) 0.684
IE AR hl HEAS] 0.150
>tk h [ | 0434
I (=]
i S
w
i 5| =
I o
i =
T
\ ¢D
( 41.1 m H70HE)
4 R R NI R 7 B = HAl &
Al BT T Co, t=15cmPL F 2.00 X 41.1 m 82.2
Gt o T T Co, t=10ecmPA F 0.60 X 41.1 m* 24.7
BHO.13(0.1)m, 2t
o T Hhk R 0.60 X 0.684 X 41.1 m’ 16.9
BHO.13(0. )i, 2t 40
HHELT RC-40 0.60 X 0.150 X 41.1 m’ 3.7
HHREL T v
BHO.13(0. D, 2t 40
HHRLT 1% (060 X 0.434 — 0.034 2 X 7,/4)X 41.1 m® 10.7
BH0.13(0.1)m’, 2t TS T R R
sy WE+ 16.90 — + 0.9 m’ 16.9
BH0.13(0.1)m, 2t
FRBRALER Co 0.60 X 0.10 X 41.1 m® 2.5
Py Co m’ 2.5
TR - L5 T 0.023 X 0.10 X 82.2 m’ 0.19
¥ T RC-40, t=17cm 0.60 X 41.1 m* 24.7
AR As(13)
RIEIRT t=3cm 0.60 X 41.1 m* 24.7
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+THh47° 4-2 & Co PP ¢ 13 DP=0.65m
+ TIEE L= 1.8 +2.4 + 0.5 = 4.7 m
W
B%E%Co t=10cm HEHl | BR R{EIR BAZHiAs t=3cm
o
2 \u | % S
T
| BEET
i RC-40 B
|
i
| w_[#mfiliE]_0.600
a | DI | #sh%| 0.022
= g = WS ERA — DP_| 40| 0.650
i RC-40 = Hi | #milE| 0.772
| H2 | fHlE) 0.672
IE AR hl MR 0.150
=+ h | # & 0422
I (=]
i 3
w
i 5| =
I o
i =
T
\ @D
( 4.7 m H0EE)
4 R R NI R 7 B = HAl &
Al BT T Co, t=15cmPL F 2.00 X 4.7 m 9.4
S IRITUE T Co, t=10cmPL F 0.60 X 4.7 m? 2.8
BHO.13(0.1)m, 2t
# OHl T b e+ 0.60 X 0.672 X 4.7 m® 1.9
BHO.13(0. )i, 2t 40
B RELT RC-40 0.60 X 0.150 X 4.7 m® 0.4
HHREL T v
BHO.13(0. D, 2t 40
HBRELT b (060 X 0422 — 0.022 2 X g7,/4)X 4.7 m® 1.2
BH0.13(0.1)m’, 2t TS T R R
Ry W+ 1.90 — =~ 0.9 m’ 1.9
BH0.13(0.1)m, 2t
FRBRALER Co 0.60 X 0.10 X 4.7 m® 0.3
Py Co m’ 0.3
15U - L5 T 0.023 X 0.10 X 9.4 m’ 0.02
¥ T RC-40, t=17cm 0.60 X 4.7 m* 2.8
AR As(13)
RAEIR T t=3cm 0.60 X 4.7 m? 2.8
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1 TX PP¢50, 25, 20, 13 &hF ({K%-4HBhH)

g 1 Je OF B K

4 R Hikg OB WA
[%41]
Az T 650 41.6 416 | m
Az T 625 31.4 314 | m
Rz FLUE 620 28.1 28.1 | m
k1 forke #rka
Az FLUE 013 3.3 1.3 1.3 5.9 m
PP LA 650 2 2 1"
PP LR $25 1 1
k1 forke #arka
PP /LR 613 2 2 6 (i
PPF— % 650X 625 1 1 1
PPF— =% 620X ¢ 13 1 1 1
PPk 650 1 L &
k1 forke #rka
PV Aok ¢ 13 1 1 3 1"
PPEIEY o $25%X20 1 1 1"
PPERALETe
Sl 650 1 LA
PPERALETe
—fo T 625 1 1 i
DIPE VR KKE ¢ 75X ¢ 50 1 1 1A
k1 forke
PPE YRG5 KA ¢50X ¢13 1 1 2 1
YRLFPy S ¢ 50 1 1 11
1R 650 40.3 403 | m
R 625 31.4 314 | m
1R 620 28.1 28.1 | m

_19_




ALY =
1TX PP¢50, 25, 20, 13 %% (% -4#Bh)
" <o , o
5 T ik MERUREA OB
[95%]
ARV F L E iR T ¢ 50 41.6 416 | m
AT L E iR T $25 31.4 314 | m
PR L i e $20 28.1 28.1 | m
R F L SR T ¢ 13 5.9 5.9 m
TR F—R ok A% BaL
PPk T ¢ 50 4+ 2+ 2 + 1 + 2 11 5]
BV %N F—=X ok A% BRAL
PPHET T ¢ 25 2 + 1 + 1 + + 2 6 m]
BV %N F—X ok PR
PPikF T $ 20 + 2 o+ 1 o+ 3 u]
BV %N F—x ok A
PPk T $13 12 + 1 + 6 + 2 21 5]
DIP# H
Sy KRR U T 675X 650 1 1 T
PP
Sy KRR U T $50X ¢ 13 2 2 T
HVTF L ERET ¢ 50 41.6 416 | m
ARITF L ET $ 25 31.4 31.4 m
HVTF LU EMET ¢ 20 28.1 28.1 | m
RY)F LS HET ¢ 13 5.9 5.9 m
¢ 50 625 $20 $13
Q55 F BEFIAF | 416 * 1.216 + 31.4 * 0.423 + 28.1 * 0.269 + 5.9 *x 0.184 73 kg
LR F— Viroh PR ST
Hetkrr77 ¢ 50 2 x 317 + 1 X 317 + 1 x 291 + 2 17 + 1 x 173 | 1755 | kg
LR F— Yok PR ST
625 1 X 072 + X 097 + 1 X 0665 + 1 X 06 1.99 | kg
LR F—R Vb PRV ST
¢ 20 X 049 + 1 x 071 + X 05 + + X 04 0.71 | kg
LR F— Yok PR ST
$13 6 x 037 + X 055 + 3 X 0375 + + X 03 3.35 | kg
WA 77 E 23.59 | kg
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_IZ_

ITX (e -#i8)) LTHEHEE

‘ + T 247 Gttt (A FREHE
E Bk SR R | R | A | R4 | (a4 | (a4
(HERRE) | GRS | GHERMR) | GiERE) | GHERRD [ GBS

AL T Co, t=15cmL 1.0 1.0l m 1

R As, t=15emPA T 2.0 6.6 86| m 9

SERRBUE T | Co, t=10ecmbLF 0.3 0.3 | m® 0.3

SAEERRBUE T | As, t=10ecmlL F 0.6 0.6 2.0 2.0 0.3 55| m® 6
BHO0.13(0.1)nt, 2t

JREIT Bk g+ 0.1 0.1 0.2 m’ 0.2
BH0.28(0.2)ni . 4t

JREI T B W+ 0.2 0.2 0.6 0.6 1.6 | m® 2
BHO.13(0. 1), 2t #v

HHREL T RC-40 0.04 0.04 0.08 | m° 0.1
BHO0.28(0.2) i, 4t #v

HHREL T RC-40 0.1 0.1 0.3 0.3 0.8 m’ 0.8
BHO0.13(0.1)mi. 2t

sy [ 0.1 0.1 0.2 m’ 0.2
BHO0.28(0.2)nt . 4t

sy e+ 0.20 0.2 0.60 0.6 1.6 m’ 2

e T 0.20 0.2 0.60 0.6 0.1 0.1 1.8 m® 2
BHO0.13(0.1)mi. 2t

R AL Co 0.03 0.03 | m° 0.03
BHO0.13(0.1)nt, 2t

PR As 0.01 0.01 | m° 0.01
BHO0.28(0.2)nt . 4t

R As 0.02 0.02 0.08 0.06 0.2 m’ 0.2

B  E Co 0.03 0.03 | m® 0.03

TR He As 0.02 0.02 0.08 0.06 0.01 0.2 m’ 0.2

75 Ve - Ly T 0.002 0.006 0.002 0.010 | m? 0.01

BT RC-40, t=15cm 0.6 2.0 0.3 2.9 | m* 3




ITX (e -#i8)) LTHEHEE

+ T 247 Gttt (A FREHE
g PR G172/ N BV B 1-1 | ER1-1 | % 1-4 | ER1-4 | i%4-1 | a&4-1
(HERRE) | GRS | GHERMR) | GiERE) | GHERRD [ GBS
BT RC-40, t=16cm 0.6 2.0 2.6 | m® 3
P T RC-40, t=17cm 0.3 0.3 | m® 0.3
RAEIH T FAEERIEEAS(13) t=3cm 0.6 0.6 2.0 2.0 0.3 0.3 5.8 | m® 6

_ZZ_




+ T ¥ & %
+THh7° | RE&R1-1 il As PP ¢ 50 DP=0.30m
+ TR L= 1.0 = 1.0 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
Sy "\ | ¢ S
A !
: BRAET -
i RC-40 B
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 0.060
= T ° HRH 1ERH < DP_| 40 | 0.300
i RC-40 H1 [#minzE 0.360
i 2 [dmile] 0.320
5 hl  |#&E| 0.180
i
|
[
v ) -
‘ =
v ! Y
i
! RERE oD
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 200 X 1.0 m 2.0
AR EBUE T As, t=10cmPL T 0.60 X 1.0 m? 0.6
BHO0.28(0.2)1 . 4t
| OE T Bk e L 0.60 X 0.320 X 1.0 m’ 0.2
BH0.28(0.2)m, 4t #vn°
HBRLT RC-40 ( 0.60 X 0.180 — 0.060 2 X x,/4)X 1.0 m® 0.1
HDREL T WA
M RELT b
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ 020 — + 09 m® 0.20
BH0.28(0.2) ., 4t
FESRALEL As 060 X 004 X 1.0 m’ 0.02
FEH As m® 0.02
TEUREE - ALy T 0.023 X 0.04 X 2.0 m’| 0.002
% T RC-40, t=15cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
IR t=3cm 0.60 X 1.0 m? 0.6
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T T R K

+THh7° | RE&R1-1 il As PP ¢ 50 DP=0.30m
+ It E L= 1.0 = 1.0 m
(=)
W
BEE%As t=3cm EHl | BR REIE BAEFHIAs t=3cm
Sy "\ | ¢ 8
A !
A iﬂ%ﬁ]‘gl
i RC-40 3
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 0.060
= T ° HRH 1ERH < DP_| 40 | 0.300
| RC-40 H1 [#minzE 0.360
i 2 [3mile] 0.330
5 hl | HEM| 0.170
i
|
i
b3 :
= C
Y l Y
i
REESD / |
( 1.0 m H7=v%aE)
4 Fr IR N NI A & = . BN &
SRAELINr T As, t=15cmbL T
AR EBUE T As, t=10cmPL T 0.60 X 1.0 me 0.6
BHO0.28(0.2)r, 4t
oM T Bk W+ ( 0.60 X 0330 — 0.060 2 X x,/4)X 1.0 m® 0.2
BH0.28(0.2)m, 4t #vn°
HHFELT RC-40 0.60 X 0.170 X 1.0 m® 0.1
HDREL T WA
HDREL T 1%
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ 020 — + 09 m® 0.2
BHO0.28(0.2)rr, 4t
FESRALEL As 060 X 003 X 1.0 m’ 0.02
FEH As m® 0.02
15 IRTER - L5y T
WA T RC-40, t=16cm 0.60 X 1.0 m? 0.6
AR EEAS(13)
AR T t=3cm 0.60 X 1.0 m? 0.6
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+ T ¥ & %
+THo47° | & 1-4 il As PP ¢ 13 DP=0.30m
+ TR L= 2.8 +0.5 = 3.3 m
(1 EREH)
W
BEE%As t=4cm EEl | BR RIEIE BAEZFHAs t=3cm
Sy "\ | ¢ 8
A !
: BRAET -
i RC-40 3
|
i A
5 W_[iE]_0.600
- N a ! — DI |4 o0.022
= T ° HRH 1ERH < DP_| 40 | 0.300
i RC-40 H1 [#minze 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
[
|
@
v ) -
‘ =
v ! Y
i
! RERE oD
( 3.3 m H¥7hHE)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 2.00 X 3.3 m 6.6
AR EBUE T As, t=10cmPL T 0.60 X 3.3 m? 2.0
BHO0.28(0.2)1 . 4t
| OE T Bk e L 0.60 X 0.282 X 3.3 m’ 0.6
BH0.28(0.2)m, 4t #vn°
HBRLT RC-40 ( 0.60 X 0142 — 0.022 2 X x,/4)X 3.3 m® 0.3
HDREL T WA
HDREL T wh
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ 0.60 — + 09 m® 0.60
BH0.28(0.2) ., 4t
FESRALEL As 060 X 004 X 3.3 m’ 0.08
FEH As m® 0.08
TEUREE - ALy T 0.023 X 0.04 X 6.6 m’| 0.006
% T RC-40, t=15cm 0.60 X 3.3 m? 2.0
AR EEAS(13)
IR t=3cm 0.60 X 3.3 m? 2.0
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T T R K

+THo47° | & 1-4 il As PP ¢ 13 DP=0.30m
+ TR L= 2.8 +0.5 = 3.3 m
(=)
W
BEE%As t=3cm EHI | BR REIE BAEFHIAs t=3cm
Sy "\ | % 8
A !
A iﬂ%ﬁ]‘gl
i RC-40 3
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 o0.022
= T ° HRH 1ERH < DP_| 40 | 0.300
| RC-40 H1 [#minze 0.322
i e [dmile] 0.292
5 hl MR 0.132
[
|
i
3 C:
= !
Y ! Y
i
RERE oD !
( 3.3 m H¥7hHE)
4 Fr IR N NI A 7 = . BN &
SRAELINr T As, t=15cmbL T
AR EBUE T As, t=10cmPL T 0.60 X 3.3 m? 2.0
BHO0.28(0.2)1 . 4t
| OE T Bk RYE (060 X 0.292 — 0.022 2% X x,/4)X 3.3 m’ 0.6
BH0.28(0.2)m, 4t #vn°
WL RC-40 0.60 X 0.132 X 3.3 m® 0.3
HDREL T i -
M RELT b
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ 0.60 — + 09 m® 0.6
BH0.28(0.2) ., 4t
FESRALEL As 0.60 X 003 X 3.3 m’ 0.06
FEH As m® 0.06
15 IRTER - L5y T
% T RC-40, t=16cm 0.60 X 3.3 m? 2.0
BB FEAs(13)
AR T t=3cm 0.60 X 3.3 m? 2.0
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+TH47 | RER4-1 miE Co PP ¢ 13 DP=0.30m
+ TR L= 0.5 = 0.5 m
(1 EREH)
W
BEE5Co t=10cm EHI | BR REIE BAEFHIAs t=3cm
N ! “ 8
S i 5
- | BREET
i RC-40 3
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 o0.022
= T ° HRH 1ERH < DP_| 40 | 0.300
i RC-40 H1 [#minze 0.322
i e [dmile] 0.222
5 hl | HREM| 0.142
[
|
i
v :) -
| —
i = Y
i
L \_ER®RE D
( 0.5 m H47=0¥E)
4 Fr IR N NI A & = . BN &
Al T Co, t=15cmPA F 2.00 X 0.5 m 1.0
AR EBUE T Co, t=10cmbL F 0.60 X 0.5 m? 0.3
BHO0.13(0. 1), 2t
| OE T Bk e L 0.60 X 0.222 X 0.5 m’ 0.1
BH0.13(0. 1)1, 2t . Zvn°
HBRLT RC-40 ( 0.60 X 0142 — 0.022 2 X x,/4)X 05 m® 0.04
HDREL T WA
HDREL T wh
BHO0.13(0.1)nd, 2t T ot SR D311 e 15
Py wE+ 0.10 — + 09 m® 0.1
BHO0.13(0. 1), 2t
FESRALEL Co 060 X 010 X 0.5 m’ 0.03
FEH Co m® 0.03
TEUREE - ALy T 0.023 X 0.10 X 1.0 m’| 0.002
% T RC-40, t=15cm 0.60 X 0.5 m? 0.3
AR EEAS(13)
REIRT t=3cm 0.60 X 05 m? 0.3
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+TH47 | RER4-1 miE Co PP ¢ 13 DP=0.30m
+ TR L= 0.5 = 0.5 m
(=)
W
BEE%As t=3cm EHl | BR REIE BAEFHIAs t=3cm
Sy N | “ S
A !
A i E%ﬁl _
i RC-40 =
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 o0.022
= T ° HRH 1ERH < DP_| 40 | 0.300
| RC-40 H1 [#minze 0.322
i e [dmile] 0.292
5 hl | HREM| 0.122
[
|
[
b3 C
= i
Y ! Y
i
RERE oD !
( 0.5 m H47=0¥E)
4 Fr IR N NI A & = . BN &
SRAELINr T As, t=15cmbL T
AR EBUE T As, t=10cmPL T 0.60 X 0.5 me 0.3
BHO0.13(0. 1), 2t
oM T Bk W+ ( 0.60 X 0292 — 0022 2% X x,/4)X 05 m® 0.1
BH0.13(0. 1)1, 2t . Zvn°
HHFELT RC-40 0.60 X 0.122 X 0.5 m® 0.04
HDREL T WA
HDREL T 1%
BHO0.13(0.1)nd, 2t T ot SR D311 e 15
Py wE+ 0.10 — + 09 m® 0.1
BHO0.13(0. 1), 2t
FESRALEL As 060 X 003 X 05 m’ 0.01
PRI B As m® 0.01
15 IRTER - L5y T
WA T RC-40, t=17cm 0.60 X 0.5 m? 0.3
AR EEAS(13)
REIRT t=3cm 060 X 0.5 m> 0.3
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1T PP¢50, 20, 13 & 5% (R EiH)

g 1 Je OF B K

4 R Hikg OB WA
[&41]

R)F LA ¢ 50 69.1 69.1 | m

R)F LA 625 6.8 6.8 m

RYTF LA ¢ 20 41.6 41.6 m
okl ) faka #aks

R)F LA ¢ 13 6.6 6.5 + 10.5 1.3 + 05 254 | m

PP /LR 625 3 3 1

PP /LR ¢ 20 2 2 i
fak1 ) faka #aks

PP /LR 613 4 10 + 6 + 1 23 il

PPF— % 650X 625 1 1 1

PPF— =% 620X ¢ 13 3 3 1

PPk 650 1 L &
fak1 ) faka #aks

PV b $13 2 5 + 3 1 11 &)

PPEIEY b $20X13 1 1 &

PPERALETe
BT 650 1 L A
okl )

PPEY A4 ¢50X ¢ 13 2 5 7 "
PRIRE $ 50 69.1 69.1 m
PRIRE $ 20 21.3 21.3 m
(%]

ARV F L E iR T ¢ 50 69.1 69.1 | m

AV TF LR T $25 6.8 6.8 m

AT F L E iR T $20 41.6 416 | m

AT L E iR T ¢ 13 25.4 254 | m

TR F—R ok A% BaL

PPk T ¢ 50 2+ 2 + 2 6 5]
BV %N F—=x ok A

PPk T $25 6 1 7 A
BV %N F—x ok A

PPHkF T ¢ 20 4 6 + 1 11 u]
BV %N F—x ok PR

PPk T $13 46 3+ 23 7 79 5]

PP
Sy ARKRE U T $50X ¢ 13 7 7 fERT

ARITF Lo HE T $ 50 69.1 69.1 m

R F L EMET ¢ 25 6.8 6.8 m

RV F LB RET ¢ 20 41.6 416 | m

ARITF LT ¢ 13 25.4 25.4 m

¢ 50 625 ¢ 20 613
W55 e BEFITAF V| 69.1 1.216 + 6.8 0.423 + 41.6 * 0.269 25.4 % 0.184 98 kg
LR F—R ok PR ST
k2597 ¢ 50 317 + 1 357 + 1 x 291 7 17 + 1 x 173 | 2011 | ke
LR F— Yok PR ST
625 3 072 + 097 + X 075 + 0 X 06 2.16 | kg
LR F—R Vb PRV ST
¢ 20 2 049 + 3 071 + 1 X 0475 + X 04 3.59 | kg
LR F— Yok PR ST
613 23 034 + 055 + 11 X 0375 + x 03 11.95 | kg
WA T 7 E i 37.80 | kg

- 29




_Og_

1T (k- Bgh) LTHEFHEE

‘ + T 2147 GRtEE AL EREME
4 R FIZ2E 7 N N 14 | (Rax1-4 [ 15 | Rax1-5 | fRaxd-1 | Raed—1 | (k42 | fed—2
CHERRR) | (iERp [ GEER R | GRERy) | CHERED | (iERp [ GEER R | (iR

AT T Co, t=15ecmLL T 20.0 40.0 60.0 | m 60.0

AT T As, t=15cmPL T 16.2 13.6 298 | m 30

SRR T | Co, t=10emPL T 6.0 12.0 18.0 | m® 18

SEEPREEE T | As, t=10ecmPL T 4.9 4.9 4.1 1.1 6.0 12.0 36.0 | m? 36
BHO0.13(0.1)ni., 2t

PEHEI LT ek g+ 1.3 1.7 2.7 3.6 9.3 | m® 9
BH0.28(0.2)n1 . 4t

JREI T ek g+ 1.4 1.4 1.2 1.2 52| m® 5
BHO0.13(0.1)md, 2t 7Y ‘

MO RL T RC-40 0.8 0.7 1.8 1.5 18| m® 5
BH0.28(0.2)nd . 4t Z/Y ‘

MO RL T RC-40 0.7 0.6 0.6 0.6 25| m® 3
BH0.13(0.1)nd ., 2t

Ay e+ 1.3 1.7 2.7 3.6 9.3 | m® 9
BH0.28(0.2)n1 . 4t

Ay e+ 1.4 1.4 1.2 1.2 52| m® 5

T 1.4 1.4 1.2 1.2 1.3 1.7 2.7 3.6 145 | m’ 15
BH0.13(0.1)nd ., 2t ‘

FEBLALER Co 0.6 1.2 1.8 m’ 2
BH0.13(0.1)nd ., 2t ‘

FEBHALER As 0.2 0.4 0.6 | m* 0.6
BH0.28(0.2)1 . 4t

FEBALER As 0.19 0.15 0.16 0.12 0.6 | m* 0.6

RIS Co 0.6 1.2 1.8 m’ 2

FEBLAL 2 As 0.19 0.15 0.16 0.12 0.2 0.4 1.2 | m’ 1.2

TGVRIEM - ALy T 0.015 0.013 0.050 0.090 0.168 | m? 0.2

PR T RC-40, t=15cm 4.9 4.1 6.0 12.0 27.0 | m* 27




_Ig_

1T (k- Bh) LTHREHEE

Lt T2 A7 Fratd | AL ARaHE
4 i Vi NI 5 -4 | el-4 | E1-5 | ER1-5 | (axd-1 | Exa-1 | (Raka-2 | fakd-2
CHERY) | iRRE) | R | (iR Ry) | GRERE) | (HCRRY) | GRERRE) | (RS
PEAE T RC-40, t=16cm 4.9 4.1 9.0 | m® 9
PEAE T RC-40, t=17cm 6.0 12.0 18.0 | m’ 18
RAEIA T FIAEBRIEAS(13) t=3cm 4.9 4.9 4.1 4.1 6.0 6.0 12.0 12.0 54.0 | m® 54




+ T ¥ & %
+THo47° | & 1-4 il As PP ¢ 13 DP=0.30m
+ TR L= 56 +2.5 = 8.1 m
(1 EREH)
W
BEERAs t=4cm EHI | BR REIE BAEFHIAs t=3cm
Sy "\ | ¢ 8
A !
: BRAET -
i RC-40 3
!
i A
5 W_[iE]_0.600
- N a ! — DI |4 o0.022
= T ° HRH 1ERH < DP_| 40 | 0.300
i RC-40 H1 [#minze 0.322
i H2_ [dmile] o0.282
5 hl | HREM| 0.142
i
|
i
v ) -
‘ =
v ! Y
i
! RERE oD
( 8.1 m H7/=v¥E)
4 Fr IR N NI A & = . BN &
SHLEGT T As, t=15cmEL 2.00 X 8.1 m 16.2
AR EBUE T As, t=10ecmBL F 0.60 X 8.1 m? 4.9
BHO0.28(0.2)1 . 4t
| OE T Bk e L 0.60 X 0.282 X 8.1 m’ 1.4
BH0.28(0.2)m, 4t #vn°
HBRLT RC-40 ( 0.60 X 0.142 — 0.022 2 X x,/4)X 8.1 m® 0.7
HDREL T WA
HDREL T wh
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ .40 — + 09 m® 1.40
BH0.28(0.2) ., 4t
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: AT
| RC-40 =
|
i
| W [#fliE]_0.600
a ! D15 0.022
= g ° HHIRH B5H — DP [ 40 [ 0.650
i RC-40 < Hi |4 0.772
i e [dmile] 0.732
ISR hl [HREH] 0.160
—t h | ® & 0422
i =
| ™
W (
| 5| <
! 8
; —
\ @D
( 1.4 m H7=0EaE)
4 Fr IR N NI A 7 = . BN &
SHLEGT T As, t=15cmEL 200 X 14 m 2.8
AR EBUE T As, t=10ecmBL F 0.60 X 1.4 m? 0.8
BHO0.28(0.2)1 . 4t
| OE T Bk e L 0.60 X 0.732 X 1.4 m’ 0.6
BH0.28(0.2)m, 4t #vn°
D REL T RC-40 0.60 X 0.160 X 1.4 m® 0.1
HDREL T i -
BH0.28(0.2)m3, 4t #vn°
M RELT b ( 0.60 X 0422 — 0.022 2 X xn,/4)X 14 m® 0.4
BH0.28(0.2)nt, 4t T ot SR D311 e 15
Py wE+ 0.60 — + 09 m® 0.6
BH0.28(0.2) ., 4t
FESRALEL As 060 X 004 X 14 m’ 0.03
FEH As m® 0.03
TEUREE - ALy T 0.023 X 0.04 X 2.8 m’| 0.003
% T RC-40, t=16cm 060 X 1.4 m? 0.8
AR EAs(13)
AR T t=3cm 060 X 1.4 m? 0.8
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